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	Assignment No. 03
Semester: Spring 2018
Operating Systems (CS604)
	
Total Marks: 20

Due Date:  23/7/2018

	
Instructions:			
Please read the following instructions carefully before submitting assignment:
· You should submit your assignment before or on due date on VULMS.
· Your assignment should be your own work in your own words. It should not be copied from Internet, handouts or books.
· Your Assignment must be in Microsoft Word document. Assignment in other than Microsoft Word document will not be accepted.
· Assignment sent via Email will not be replied and accepted.
· If the submitted assignment does not open or file is corrupt, it will not be marked and hence awarded zero marks.
Objectives: 
· To understand the working of Deadlock detection algorithm.


	
For any query about the assignment, contact at CS604@vu.edu.pk


	Question                                                                                                                                    Marks 20     

a. Consider a system with five processes: P1, P2, P3, P4, P5 and five resource types: R1, R2, R3, R4, R5 with single instance. From the given below information, you are required to determine whether the deadlock exists in the system though deadlock detection strategy for resources with single instance. 
  
P = {P1, P2, P3, P4, P5}
R = {R1, R2, R3, R4, R5}
[bookmark: _GoBack]E = {P1R1, R1P2, P2R2, R2P3, P3R3, R3P4, P4R4, R4P5, P5R5, R5P1}	

b. Consider a system with five processes: P1, P2, P3, P4, P5 and four resource types: R1, R2, R3 and R4 with multiple instances. From the given below information, you are required to determine whether the deadlock occurs in a system though deadlock detection strategy for resources with multiple instances. 
  
P = {P1, P2, P3, P4, P5}
R = {R1, R2, R3, R4}

R1: 5 instances 
R2: 3 instances
R3: 2 instances
R4: 4 instances






Consider the system in following state:

	
Processes
	Allocation
	Request
	Work

	
	R1
	R2
	R3
	R4
	R1
	R2
	R3
	R4
	R1
	R2
	R3
	R4

	P1
	0
	0
	0
	0
	0
	1
	0
	0
	0
	0
	1
	1

	P2
	0
	1
	0
	1
	0
	0
	1
	1
	
	
	
	

	P3
	2
	0
	0
	2
	0
	0
	1
	1
	
	
	
	

	P4
	1
	1
	0
	0
	2
	1
	2
	0
	
	
	
	

	P5
	2
	1
	1
	0
	1
	0
	0
	1
	
	
	
	



 

Note: There can be many sequences so you are required to start from top to bottom for “Processes” column. i.e. P1 to P5.


	BEST OF LUCK
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